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8-25. See below:

a.y=12(3.3)
x y
0 12
1 3.96
2 13.068
3 43.1244
4 ~142.31
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8-26. See below:

b. All three graphs are increasing curves that are the same shape. All three graphs have an
asymptote at the x-axis, but they have different y-intercepts. It would be incorrect to say
they have different steepness or different growths. See solution graph below.
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8-27. See below:

a. See table below. The two sequences are the same.
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tn) | 12 | 36 | 108 | 324

b. The coefficient is the first term of the sequence, and the exponent is 7 — 1.

c. See table below. Yes, both forms create the same sequence.

t 1 2 3 4

tn) | 103 | 115 | 127 | 139

d. Because he is using the first term of the sequence instead of the zeroth term. Dwayne subtracts
one because his equation starts one term later in the sequence, so he needs to multiply or add
one less time.
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8-28. See below:

a. Typical response: The distance between 4 and D (+/10 ) equals the distance between B and
D (also 10 ).

by=—dx+8

c. Yes, the slope of BD is — while the slope of AC's 3. Since the slopes are opposite
reciprocals, BD is perpendicular to AC.

d.P= /40 +2/50 =20.467 units. If AC is used as the base, then A = 20 sq. units

8-29. Congruent by SSS =. See flowchart below.
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8-30. d=2(t+5) and d = 61; where d = distance traveled (miles) and ¢ = time Jan biked (miles per
hour); d=15 miles

8-31. See below:
a.(2,-4)

b.(3,-3)




